[ge3op:ardogeBeges (a§mr§oieieaco(ol) ol oo-g-jo R qodes,
(YE%GO{I:?_%:@&GOT?SQG@UQG-?

ao$ (cﬂ:oo@:)
o |edleod: B0d 200000 200000
J |ecTog 303 0000 Q000
2 |epSeco B0d G000 Beooo
G |c88 3305 Gejooo Q000
9 [s0803 (saeqp) 3305 Goooo Qo000
Odls¢ (opq¢e4S)
G [0050 o/§ J9JJo00
q o0t o/} 2690000
o [dc3egal o/on§ JogJsoo
@ [e0000050 o/n§
00 |00386: o/on§ 2066 Joo ORROQV0
00 [Gogds(g) o/n§ 0662600 259000
o) [Ocgd:d ofo§ 2096 Jo0 250500
0Q [30B050 o/} JOEaR00 Joygooo
2 [0¢8 ofo§ J0goRo0 250500
0 |efgptias o/} 906 J00 998500
98 |opooord(§jey(od o/oo§ J905q00 JogBo00
oq |g§0om8/(g> o/0§ 00Boqo0 OROEN0O
00 |0 o/oo§ 2586200 2096500
09:(%990983."?: (o?clée.?oé)
og |(305p48 8000 JBgo 2090
Jo |(0305993(g1 (@310999) 8o00o Qgoo Q900
Jo |[0305938(g] (§8:0) 8oooo Qoo 9600
4 | 8oo ©000
) |ssc 8oom 20000
J5 [cqodgpd(08:d) 8200 @000 22000
19 |egode(et§iod) 82000 25000 26000
09:3?:98
S8 |e(gosd oo oBooo
1 |§8:s8 8oom oBooo
o |00:38:88 8ooo 6Qo0




< C <
Ragegotode

(o3

25889 00-g-Jo R o4, Ooeiqisé

N 3 3 QO 3
028650588 dgpen (00630000) condamniegrasiqp:

X T ] w0
o ol EectreN) 7S
o °lgo‘;? (0?61(:56§’.)8) —
S 82000
+— 82020 Beao
J 6®§:§ ° —
2[008egdl 23})3
82000
’ c\;:;;(;mo 82000 Q000 250
it 8002 J99° J909
- ?08§°@|l 82000 Q000 2900
: °<‘8§$ 8002 2599 2590
- :j?(; - 82000 509 200
s Sfgedz(od 8202 GeOO 6By
20 [apo0o2d(gled:(03: o o —
= ?$Z)3$/[§3 8202 96Go 99G¢)
4 S 82000 Bogo Q99
— 82020 9080 Booo
—— 8 0050 20q0
o8)|e[go&zad 82000
(303388
82000 Q0850
e 8 Q000
oc < 9° 82000
29 aoo@u(moo[_(_ya.,) ° =
S 82000
20 [s83(g| (coo5208) 6 -
oc < 5
oR aoo@u(moosq_p) :&» -
% G000
— 8ao0o Q000
el Che (:DQ%)C\)OS@: ::)co3 =
1|62 (298)c005008, <°):n> -
R a}go(wo%)morgsaﬂo 62000
T
[©3o388(1
3 8202 Qg00 Q9
— 82000 QBoo
— 8ao0o )00
< .C 8
Pl v 82000 9500
Jq|eseoodioni-c 5 ogec
Jo|eae€o§ion:-g 82000
528
= 82000 @000 22000
el o 82000 @000 22000
20|08z (238) AC <::n>
o c/e ¢ 82000 _
o R 82000 96000 2Booo
i mé@ll(’a§: = 3 96000 26000
R @50 (@)oo 02002
® 2032
S %;ﬂé 82000 0050 290
8 o@00 Jgoo
9 e.%(‘qé:ag:sgwo: (208) 02002
393(\23
B|o303: AL :awo
2q|v3u3:0K 22:
) 0'3093:51 <:
Q@ [wdB: 52 82000




